'-.C?
QuFJT‘ON s QDuAT TF F CrH4wcfEs ITH Ly
Trme? Cav we shll wle g2 = Fat? 7~

ANJ"uEn T Sun & Beedic up the A< Catervdd —
-~y - -t} ) )
AP = AP, Lo A{ + Af +~ .-
- S - —>
AP = £ o€, AO"L-:E_‘O'Q A@ Fd"é

~> D
here F'- E_ F Gre po,,yj-ud‘ over rt\.c_ A"t

(/lﬁuallg be.s-l' Luag s o R 3Surme A€
< et Dl'\o" tx ke A€= A'f,:A‘l‘:,_ :—A"f.‘_?

CMAI‘FO&M TOME UoTEPY)
ad <Pl Ao TR,

F—f? Can be ConsTANT i e
¢ AR SRR = AT
A;} - D ° e Pq.-?’)“ 7 AL
32 ' fa af. =0k
AN 3
FE P’ and 9° ou!
g

E xAmpLE 3
(f’k /G S %
T‘lt +I"C,‘f‘c,lﬂc_j

S.ﬂ/s'\a a{ntr«.
a ForcE /!

" Note : MAKES
IF) k N = kL Le) m:j{&/l«mcc ¢

s=L~-Lo SP'/?(NQIS
ComPESSED O©OR
Re= SPRING CoNSTAVT Expg ANDED, Force

¥ (May nitudte) depens-
e “Np;? B oalg on [S).



DrtecTion oF ForcE FrRom A SErING Ly
P2

i —- - Y
‘Q‘a\f’ L=LT  s=|C]-~Lg
L = A ~ A
E-\ % ,F: :-:--kJs LJ:-—kJ)’L)}—Lo) L
5 ]
Note: Force oppo3es Stretching or Comprelsing
'Pu,l.l oA « .S‘a(fn;-—- J;fcc Wanats Fo f?u” baric,

Expam pPLE :
; tafz;;;ﬂ \‘R E7= C*97, -0.33> m
b s g - l-—" B .
L—-.\ i"—" L Cl= Veiwon+ «(-0335%
g iy = 6337 e
A
L = < 0.20%, -p.9747
S = L~Lo =0.337 & -O.Z.l‘w-.:b.l?"?hm
P = chysl = -(9)(0.127) <0.208, ~0.974>
S
-~ B -o.Zsy/ l,[z.> /\/ (Err.:w i~ boawx ™

Says AMm ),

LC»IQAVT_TQ NEAR SurRFACE oF TKE

EARTI
-
lg)zmg (;:‘7.3/\///&0, = 9.& /5%
Djfc,c.h\"‘? ?fCHa «pbviowsy TowARD THE SurxFAaz,
Kz w
‘_-__-)

o



ExampLe 3 SPrRivG  AVD GrAVITY C
r.2

v Systerm; Block
ks SunrRouwW DTVGS ¢ OTHER Forces!
SPRing and EARTH '
Grve~n TNFormATIow TANTTI4L CowWDTT/oN § ~D
L, = 0.2 Rs =8N/, Covuprn EsSED  TO Iy lingh
m = ©.06 lz; L=o| Po= o
Note : A MQ_ NEED Fen VEcCTO NoFret
STows ) NoTATI oA
S - . F, = —hs(t -Ls)
5 a (0. —0.2) =0, F A

Fy = -ms = -6.06(13) =052y # L[wore ¥ f5]

Py Mefiey  f  BLE LR,
LosulD LIOE To Knaw X{(€aSse),
Let oo this At=o0l Sec ']:ST‘EP lj

AP = F at A0 = B =f = f =2Fy &t
' = (3' \ = [0.3—0.5’2’3] (2.1)
(F=° -
WANT ¥l ] (¢€) ‘ = 00212 ky-m/
v,w; = %at__ e IR S Vgvy At
_ s Ao : NoT CLEAKR
NUTB.’ %ODK TAKE-S /u/l‘/o)_ o KUF‘ -—,%-H’t—'-is <5 THE
UF = f& o 0,02(Z . 0.25) "“l/_s “O'PTIMA-—L“ c o TCE _f
m 0,06

~N
lﬂ‘ =4, *+pat = ol r(0.352)Xo.1) = & 35 m

ke Ayr Q3T m Is A preHy biy  fan Qhange

L“"'ﬁ\j At s Teo LARGEL (0K fe nOw)
[s7ree 271

(Ll = 0135 m

2= ks (L-Llo) ==8(0435-02) = 0520 N (SmaLimg
= HAN

F‘; = -m5 ==0,53% M (S&ME) STER | )



=P - .= L
AF P2 4 Foer &t &(
P, = (0.0212) <+ (+D. 520 = 6’.5-33’)0,| -
2 A N 0,0("f’ /to-p.(a
A a0 '*Fa At

V. = _.ﬁ'.‘. = 0 .236 myy &:)(%
z (-
az;j_—ﬁgg.aé = 0.157m [m

w
[5Tg.a3] .=, 059%™ Fs =k, (L-Le) = +0.328W
FIU = (0_32?-0.595)/\}:"0.2'33 N (Aote : SICW _
CkAVCE) )
g P.? =P, + Frer At = = 0.2 ryhy-m/; (STW_;)
V3 = fa - Lol m/s CATaw])
1
J
A3 .
"&3 = O ‘3 iy D'l /\
/\k\i o c=;.| oi.z. c.:.-‘-' =t
/\ — " S
/ \ 7 \ THE PasxTI0W JERKD
- BEUWE ot=a.y Too  BIW
r
€ ) A€ =0.0)
AL MaTTivw TS PERT=OIC)

/\/\ Mebe? Vg = Y

ONLY  Workky B EFCAIE
o

N\OTIOM C AN EA‘.SI’-—B BE Don = L ITTMH
A Cow\t"MTEI( \




Cow STANT FoORCI=

— Fu

L4
—_— 3
X I /9
3 S J€
Lp= Fy &t F_’F =P+ F,a¢ FFDF'L Con s TANVT
’UF"'UC“' E'YA(: J'D:L‘VI‘DE-: Bz
’H
Now Cow S - UE
= AX Xo = A; * Vavw, A€ -
= Y AV =
fy ok d J U = g+ V¢
F. Y ES
v - (v, + B2 ae) v, s
A c, = 2 = (VC w 2 :At
le =X, * VAL T T X Af‘-/ VALTD Fon
AV at !
WAL Ed
A'J.E_Ij_:cn"“ SeLUTiow wha
AP
— = F = coniTh~ dpf. .
ot i = F 4y
At ¢ = F/m‘
'U-‘-"l);+—E-t t=o0 }),wv,;
= 0){-
d X ‘
ey ’\-}: *-E‘& = X .
cAt XF L "*"Ut'é "'5_‘%"
Expmrte @ ISicked bl P .
hzvEw o E(B/:: i \
TFVvFA ° S:dk—'&nt f i f“'a ,)(
m= 500 TuE BALL kickes
vl
Y“'_z <‘5°;°) Swnﬂ.oM'D:N&: EA-QTH (QA)L; Sowne=
“f/? = £3,7,0) my,

oF FIRC(E)
J _4/,:___9_. ﬁ:rcc tn Me X Aitectina?

\ x.p ] XL’\'V)(’LA'(:J ("“F = /- F—;-—:‘m;

F Loherc 18 bl € =007
PRy

When Joed bl
hit- gfow’lﬂ‘:}




T o .
1 AMPOCTANI & THESE Cuyress/sws ARE VALED gy
Save Te WNEGLECT o0F 4T FRICTow

/?_a.) LDhere o osll af tx= 0.5 (o r L\‘t’-:"o'-")
—-')

st = 0 -+ 3 (D-J-) -4 I,_S- g
i ¢=0,%

t 1] "
x: Vxr @t

O'j-l-‘- -0 + 7(o5) % 3 (c""") (63)r = ©,5) (7)€ 4.9(0.,25)

1 1]

g ﬁ%z@ = 2,278

e = (1.5, 227500 M at £=0Js

Bt hiks ground when B Jfp =0
j"t = g+ Uy At~z g AE

O =0 +?£Af-—:f;4~&l' —D A4 =

A{“:%S =143 s

Where 18 bail s A¢=(Yx g
Vg =9
XP :')((,‘ -{-/Ux-’tv At=0 + 3 (/‘/3)h1 -_-_:-C/Zgﬂ

———

FE = < 129,06, 07 m



